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Part-A 5 x 1 = 5

The solution of x dx+y dy=0 is 

(a)  (b)  (c)  (d) xy=c+ = cx2 y2 = cx
y

− = cx2 y2

The solution of    is

(a)  (b)  (c)  (d) 

=
dy

dx
ex−y

= ceyex y = log cex y = log c( + c)ex = cex+y

The solution of   (k is a constant) is

(a)  (b)  (c)  (d) 

= k
dp

dt
e−t

c− = pk

et
p = k + cet t = log

c−p

k
t = plogc

In the di�erential equation  , if we make the subsititution y=vx then the equation is transformed into

(a)  (b)    (c)  (d) 

( − )dy = 2xydxx2 y2

  dv =
1+v2

v+v3

dx
x

 dv =1−v2

v(1+ )v2

dx
x

=dv

−1v2

dx
x

=dv

1+v2

dx
x

When the di�erential equation   reduces to 

(a)  (b)  (c)  (d) 

y = vx x = y +
dy

dx
+x2 y2− −−−−−√

=dv

−1v2√
dx
x

=vdv

+1v2√
dx
x

=dv

+1v2√
dx
x

=vdv

1−v2√
dx
x

Part-B 5 x 6 = 30

Find the order and degree of the following:  =  x1 +
yd

2

dx2

− −−−−−√ dy

dx

Find the order and degree of the following:  =( )yd
2

dx2

3

2 ( )dy

dx

2

Find the order and degree of the following: 3 + 5 − 3y =
yd

2

dx2
( )dy

dx

3

ex

Find the order and degree of the following:  = 0
yd

2

dx2

Find the order and degree of the following:  =( + 1)yd
2

dx2

2

3 ( )dy

dx

1

3

Part-C 5 x 10 = 50

Solve (x+y)dy+(x-y)dx=0.

The net profit p and quantity x satisfy the di�erential equation  . Find the relationship between the net profit and demand given that p = 20 when x = 10.=
dp

dx

−2p3 x3

3xp3

The rate of increase in the cost C of ordering and holding as the size q of the order increases is given by the di�erential equation  . Find the relationship between C

and q if C = 1 when q = 1.

=dC

dq

+2CqC
2

q2

A bank pays interest by treating the annual interest as the instantaneous rate of change of the principal. A man invests Rs.50,000 in the bank deposit which accrues interest, 6.5%

per year compounded continuously. How much will he get a�er 10 years?(Given : e  = 1.9155)65

A manufacturing company has found that the cost C of operating and maintaining the equipment is related to the length m of intervals between overhauls by the equation 

 and C=4 when m = 2. Find the relationship between C and m.+ 2mC = 2m2 dC

dm
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